3.14
Viina = 0.68MHz
Ving = 0.70MHz
1/e2 w=(305+12)um
(t=275ms TOF )
(324 + 25) nK
F F20

No T oD, W

2 Ou

N =(1.2+0.1) x10°

Te

T, =094 Nv3

B, =185G/cm?, B, = 0.9 G
o =2rx70Hz
T, =(330+10) K
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(@)

o, =Ww/2t= (5.55+0.21) mm/s

N

OD

max

T=mo’/ky =

4.1

w=(305+12)yum OD_, =12

V(X Y,2) =m(@ix* + 07y* + 02z?)]2

W =

M.2

Gy =267 =1.45x10"°[m?]

(G)COG) 1/3

xHy“z

0, =2rx122Hz

B.16

A A50

4.2

B,=B, =B, =175G/cm
o,=0,=0,=2rx166 Hz
4.2

7x10%cm™

a? =14/30
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[EEN

optical density
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L % e Al . .
Y \./ A WA LN T
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\
o Pt fn

arar
e

-400 -200 0 200 400
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27.5ms Time-of flight
(a) Winal=0.70MHz
1/e2 w=305um o,=5.6mm/s 7=320nK (b) Winal

= 0.62MHz 5
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a)pza)xza)y>>a)z rZ:x2+y2
,u—;m(a)irz +w:7%)
n(r)= 4.3
UO
E E,12 U U,
2
U, = 4rhica 44
m
D D.42 a 4.3
MU 2.2
n(r,t)
E E.34
1 r) ’
w w,Z
n(r,t)=U 22 (O g —=m| —2—| +| 2 4.5
(1.0 =UoZ5 (004, (0) 11— {Mt)] (Mt)j }
A,(t) .4, (1) t . (b)
(@) TOF 27.5ms p
4.5 F F.28
t A4,(),4,() c=w,lo,<<1

2,(t) = J1+ (o,t)? 4.6
A,(t) =1+ gz[wpt -arctan(w t) — In 1+ (a)pt)z] 4.7
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[49] E E.41 t
d, (t)
2p
dt)=40—— V=p2 4.8
Mo,
E E.42 . (b) 27.5ms
d, =(125+10) um 46 48
P d,(0)=(4.4%0.3) um

4 =(109+17)nK
E E.27 S5ul7=78nK
Evo =l(0, +0, +®,)/2=8.3nK 10

F.30
Oob_dd
N0 = Z_EM 4.9
5 O s
. ) oD, =36 dp =(125+10) um
dZ =(90£10) um N, = (35+0.5) x10°
[nK]
[u m] [cm3]
4.4
4 | 27x 101 | 78 — 47 31

5x 105

12
20) |42x101| 8 4 4 —
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v
No F F34
1 —\2/5
= Eha(lSNoa,/m%J — 1.48( Njan’@*mv'2) 2 4.10
N, = (5+2)x10° 0
48 410 0

d

N, = (3.5+0.5)x10°
N, 4.3
Y7
n, =n(0) =— 4.11
o =Nn(0) U,
U, 4.4 a
[64) a=58nm U, = 4.0x10%[Kcem®]

. L 4.11

n, = (2.7+0.4) x10*cm® 4
(a)
E.4
(b) . (a)
e(ty=d (1)/d,(t)  TOF
E (E.43)

[21]
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6mm

ims 55m 11ms 16.5m 22ms 27.5ms 33ms

(b)

z

d (t/dl 1)

aspect ratio ¢

TOF time [ms]

(@) TOF
(b)
412 4.13
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d,(t) A,(t) )
t)=—L"= 0)-2 0)=—% 4.12

&re (1) d, () &re( )Zz(t) é1:(0) o,

E (E.57)

1+ w’t? @
&no(t) = €10 (0) ﬁ £no(0) = | 413

z P

4.12 13
No U
W4, @) . (b)

v, (1) v, ()
d, (6, d.(1)
v, (1), v, (1)

[48] E E.45 E.46
d w t
P dt P PP 2,2
A1+ 't 414

d 2
v,.() =—d,(t)=v, -—arctanw t
M=) =V, Sadmo,

puoor ¥z

Voo = a)pdp(o)
T 4.15
v,, =—,&d,(0)

Z,0
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c=o,lo,
w, =21 x12.2 Hz
o, =2 x166 Hz ¢ =0.074
P d,(0)=4.4 um d,(0)=d_(0)/&=59 um
4.15 v, =4.5mm/s
v, = 0.53mm/s v, =hk/M =5.88mm/s
077 p 0.09
V2, ivi, =1:(ne/2)? =1:0.013
98.7 13
4.3 4.14 p
1 2ms
4.14 P o,
5ms 98
96
6- | | | onépho'ton recoil '_'
- 5- o-direction T
£ 4 ]
é |
> 3 '
S 2 .
[} ] ]
> . .
11 z-direction -
O i -I T T T T
0 2 4 6 8
TOF time [ms]
3 4.14
P
4.5mm/s
0.53mm/s 5.88mm/s
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rf
rf
rf
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